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Codeforces Global Round 13
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F. Magnets
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int query(int a,int b
puts("? 1 1");
enter(a);
enter(b);
fflush(stdout) ;
int t;scanf("%d",&t);

t;

int query(int pos,int lef,int rig
printf("? 1 %d\n",rig-lef+1);

enter(pos);
_rep(i,lef,rig)space(i);
puts nn ;

fflush(stdout) ;
int t;scanf("%d",&t);
[

int solve(int pos,int lef,int rig
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int mid=lef+rig>>1;

lef==rig mid;
int t=query(pos,lef,mid);
t solve(pos,lef,mid);

solve(pos,mid+1,rig);
int main

int T=read int();
T--
int n;scanf("%sd",&n);
vector<int> ans;
int pos=2;
query(pos, 1, pos- ==0)poS++;
int t=solvel(pos,1l,pos-1);
_for(i,1,pos
il=t
ans.push back(i);

_rep(i,pos+1,n
query(pos,i)==
ans.push back(i);

printf("! %d ",ans.size ;
_for(i,0,ans.size())spacelans|/i]);
puts nn ;

fflush(stdout) ;

G. Switch and Flip
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const int MAXN=2e5+5;

int a/MAXN];

bool vis|[MAXN];

vector<pair<int,int> > ans;

void Swap(int pl,int p2
swap(a/pl|,alp2!);
ans.push back(make pair(pl,p2));

void solve(int u,int v
alull=v)Swap(u,alul);
alv/!=u)Swap(v,alv]);

Swap(u,v);

int main

int n=read int(),last=0;
_rep(i,l,n)alil=read int();
_rep(i,1,n
vis|i ;
vis|[i|=true;
alil==1 g
int pos=i;
alpos|!=1i
pos=alpos|;
vis|pos|=true;

last==
last=1i;

Swap(i,last);
solve(i,last);
last=0;

last
bool flag=false;
_rep(i,1,n
ali]==1i
Swap (i, last);
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solve(i,last);
flag=true;

’

I'flag

int pl=last,p2=alpl]/,p3=alp2];
Swap(pl,p2);

Swap (p2,p3);

solve(pl,p2);

enter(ans.size ;
_for(i,0,ans.size
printf("%d %d\n",ans[i].first,ans[i].second);

’

H. Yuezheng Ling and Dynamic Tree
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1. $a_i\to \max(a_i-x,1),i\in [I,r]$
2. 00 $u,v$ O $\text{LCA}$
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const int MAXN=1e5+5,MAXB=sqrt (MAXN)+5;
int alMAXN|,p[MAXN|,blk id[MAXN|,blk sz;
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struct Block
int L,R,lazy, lazy en;
void update p
lazy en=true;
_rep(i,L,R
blk id[i|==blk idlali
lazy en=false;
plil=plalil];

plil=i;

void update a(int 1,int r,int x
_rep(i,l,r
alil=(i==1)70:max(al[i]-x,1);
update p();

void update a(int x
lazy en)lazy+=x;

update a(L,R,x);

b1k MAXB];
void update(int 1,int r,int x
int posl=blk id[l],pos2=blk id[r];
posl==po0s2
blk[posl].update a(l,r,x);

blk|posl|.update a(l,blk/posl|.R,x);
_for(i,posl+l,pos2
blk[i].update a(x);
blk|pos2].update al(blk[pos2].L,r,x);

int A(int pos
pos==170:max(alpos|-blk[blk id[pos||.lazy,

int query(int u,int v

piull=plv
Alplul )<Al(plv swap(u,v);
u=A(plul);

ul=v
u<v)swap(u,v);
u=A(u);

u;

int main
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int n=read int(),qg=read int();
_rep(i,2,n)alil=read int();
blk sz=sqrt(n)+1;
int 1=1,r=0,blk cnt=1;r!=n;l=r+1,blk cnt++
r=min(l+blk sz-1,n);
blk[blk cnt].L=1;
blk[blk cnt|.R=r;
_rep(i,l,r
blk id[i|=blk cnt;
blk[blk cnt].update p();

q__
int t=read int();

int l=read _int(),r=read int(),x=read int();
update(l,r,x);

int u=read int(),v=read int();
enter(query(u,v));
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